

77

$$f(z) = (z-a)^m g(z), \quad g \in H(\Omega), \quad g(a) \neq 0$$

$\Rightarrow g \neq 0$ in $D(a, \varepsilon)$
da wegen $\varepsilon > 0$

$$\frac{1}{f(z)} = \frac{1}{(z-a)^m} \frac{1}{g(z)} \quad \leftarrow z \in D(a, \varepsilon)$$

$$\Rightarrow \frac{1}{g} \in H(D(a, \varepsilon))$$

$$\Rightarrow \frac{1}{g}(z) = \sum_{n=0}^{\infty} c_n (z-a)^n,$$

$$= \frac{1}{(z-a)^m} \sum_{n=0}^{\infty} c_n (z-a)^n =$$

$$\frac{1}{g}(a) = c_0 \neq 0 \quad z \in D(a, \varepsilon)$$

$$= \underbrace{\frac{c_0}{(z-a)^m} + \frac{c_1}{(z-a)^{m-1}} + \dots + \frac{c_{m-1}}{z-a}}_{\substack{\text{cyl' gl'ame b. g'una, } c_0 \neq 0 \\ \Rightarrow \text{biegun u' der } m}} + \underbrace{\sum_{n=0}^{\infty} c_{m+n} (z-a)^n}_{\in H(D(a, \varepsilon))}$$

cyl' gl'ame b. g'una, $c_0 \neq 0$
 \Rightarrow biegun u' der m